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BACHELOR'S DEGREE PROGRAMME 
(BDP PHILOSOPHY) 

Term-End Examination 

June, 2013 

ELECTIVE COURSE : PHILOSOPHY 

BPY-012 : PHILOSOPHY OF SCIENCE AND 
COSMOLOGY 

Time : 3 hours 	 Maximum Marks : 100 

Note : (i) Answer all five questions. 

(ii) All questions carry equal marks. 

(iii) Answer to question nos. 1 and 2 should he in about 

400 words each. 

1. Give a brief account of Philosophy of Science. 20 

Explain Aristotle's teleological understanding of 

the universe. 

OR 

Discuss how Newton made progress over Kepler 20 

and Galileo in the formulation and application of 

his universal laws. 

2. What are the two different theories of relativity ? 	20 

Elucidate some important consequences of 

relativity. 

OR 
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What is the contemporary understanding of the 20 
structure of the universe ? Explain in the light of 
the Big-Bang theory. 

3. 	Answer any two of the following in about 
200 words each : 

(a) How do you relate pre - Socratic thinkers to 10 
modern science ? Explain. 

(b) Write a detailed note on the concept of force. 10 

(c) Explain myths as spiritual metaphors. 	10 

(d) Explain Lisa Randall's theory of multiple 10 
universes. 

4. 	Answer any four of the following in about 
150 words each : 

(a) Describe Bacon's view on experimental 	5 
science. 

(b) Explain briefly Falsification and Falsifiability. 	5 

(c) What is the uncertainty principle ? 	5 

(d) Explain Copernican revolution. 	 5 

(e) What do you understand by methodological 5 
relativism ? 

(f) Explain Greek cosmogony. 	
5 
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5. 	Write short notes on any five of the following in 

about 100 words each 

Quantum mechanics 4 

Innate Force 4 

Mathematization of Nature 4 

Vienna circle 4 

Scientific cosmology 4 

Rationality of science 4 

Stephen Toulmin 4 

Axiomatization 4 

(a)  

(b)  

(c)  

(d)  

(e)  

(f)  

(g)  

(h)  
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